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Please show with steps showing how to arrive at the final answer

Find the work done by the force F o= (v=Zx)i+ (=27, as it moves a particle from the

point (0,1 o L0y along parabala C) given by v=1 7, and then retum through the 3-
quarter unit circle, Ca centre at the origin, from (1O} w (0.1)

The J-guarter circle C: can be parametrized by the equations x= cos,

. ir
v= —sinl where | goes from 1=0 o 1=—.

Drees the answer remains if Cz 18 replaced by another part of the circle | Cs in opposile

. . . . . T
direction parametrized by k= cost y= sinl where 1 goes from =0 (o 1= =7

(14 marks)

The regiom & in the vy-plane is bounded by the lines v+ y=F, v=x=7 and v =3.

(1] Sketch the region &; (2 marks)
(11} Find the limits of the integration for
Hﬁ’{ ¥ =23y and jo[ v —2x)dydy: [ 12 marks)

(111) Evaluate the integral over & (3 marks)



